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1T [A397:

FHETITRET 145911 %1 agad FIae] & Tigq Sk 371 ] & 9ot 1T :

(i) 39 F97-97 4 30 I97 & | @t Fo7 AT & |

(i) I8 Y97-97 Giel @US] 7 [G9If5id & - @US &, @&, T, 909 & /

(i) WY F — Jv7 &g 1 & 17 7% Tgascdid Io7 & |

(iv) WIS — 97 G&IT 18 TF 19 Gid ERT I97 & |

(v) @UE T — J97 G&IT 20 T 23 TF TY-FT0T TPR & o7 & | 4P J97 BT FH

80 @ 100 /51 4 for@T ST =fze |
(vi) WUET — Y97 &IT 24 & 28 F4-F07 YbH & Y97 & | Y% Y97 &7 FH 120 &
150 3rsc] T for@r ST F1fsw |
(vii) TUIZF — I G&I7 29 T 30 FHIGT ERT 597 & |
QUe &
39 @UE § 17 Tglasheqiy 397 (3. . 1- 17) & | @1 797 a1 & | 17x1=17
1. fava § SaEe faawr st yuifad e 9 Fefafeaa sreet 8 9 w95
JTfleh ek B 2
(a) TR (b) Ha
(c)  oferid (d) ST hl IuAHd

2. AU W G (ILO) 3 WHe T o forg 3umm st wdtfera feman 2

(a) I (b) I
(c)  TMERYT TTEwIhal (d)  &Hdr

3. UNER oM @& 39 9 getyq Hfiiad el i 9feu 3R T8l fashed i
WW:

I S0 i aha s

[I. =i o 99 & s Ta0d T
III. HREART & WEed &l Sgal il
IV. &A1 hl Jcg S I HH BT

IEETR IR

(a) had L IIWEIVHE 3 | (b) HIAL TG IITE B |

(¢) ohad I, 11 TS IV HE & | (d HIdIITEIVEHS B |
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General Instructions :

Read the following instructions carefully and follow them :

(i) This questions paper contains 30 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — Sections A, B, C, D and E.
(iti) Section A — Questions no. 1 to 17 are multiple choice (MCQ) type questions.
(iv) Section B — Questions no. 18 and 19 are source based questions.

(v)  Section C - Questions no. 20 to 23 are Short Answer (SA) type questions.
Answer to these questions shall be written in 80 to 100 words.

(vi) Section D - Questions no. 24 to 28 are Long Answer (LA) type questions.
Answer to these questions shall be written in 120 to 150 words.

(vii) Section E — Questions no. 29 and 30 are Map based questions.
SECTION A

There are 17 multiple choice questions in this section (Q. No. 1 - 17).
All questions are compulsory. 17x1=17

1. Which one of the following factors is an economic factor affecting the
distribution of population in the world ?
(a)  Urbanization (b)  Soils
(c) Unrest (d)  Availability of water

2. Which approach of ‘human development’” was proposed by the

International Labour Organisation (ILO) ?

(a) Income (b)  Welfare
(c) Basic need (d) Capability
3. Read the following statements regarding objectives of family planning

and choose the correct option :

L. Control the birth rate

II.  Spacing the birth of children

III. Improving women’s health

IV. Reducing the death rate of children

Options :

(a) Only I, IT and IV are correct. (b) Only I, IT and III are correct.

(¢) Only II, IIT and IV are correct. (d) Only I, III and IV are correct.
64/1/1 3 P.T.O.
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4. ‘T FW w1 gay FEfaied 9 9 fored 8 2

(a) T 3c4Ted (b) 3N 3T
(¢c) = 3IcUTed (d) gssit IcdTeA
5. TmfaRed # @ s arfisy S0 Y w1 g8 o991 &7 7 2
(a) IR ufvadt Wy (b) TS &
(¢ —ISficis & (d)  cferor qoff srieefern
6. TR % HEc HHfAIRGd § & hd TR I Y 1 76T ¥ & ?
(a) Tulya (b)  AETETHI
(c) EERRI d) EfE®
7. T=fafea <o | @ forgent aHa fosea g T Faiw 8 ?
(a) S (b)  ETeA
(c)  Areferam @ SHh
8. Tr=fcfga semt &1 stewe HINT iR Tl faereq o1 =—= fifvT .
HITI : AT o ITHIHT o |1 THEAR hl - HF o A1y
forera &1 |
FHYTII : JRumIEeEY U guf<d dedes o1 N8 S & AW " SMI
I g |
IEETg

(a) <hdd Ho [ TE B |

(b)  had %Y I HE 2 |

(¢) A 19 I3 dl &, e I, A 11 Hal INumH 3 |
(@) HUF 19 IS T&l &, heH 11, A 1 &l TN T8 & |

9. ffefefga 3 @ 9-a1 ya@ o Sfdey S 9 99fid 8 2
(a)  UTehfaeh foaemd

(b) D STy
(¢) St o gufd hl g

(d) fd 9 TafRcd

10. TfciRea TsAT 6 € foheehl 2001 & 2011 % Tk H SHEEAT gfg & Faiesh & ?
(a) WO (b) AT
(c) Toom d) fTafem
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4, Which among the following is related to ‘truck farming’ ?

(a)  Fruits production (b)  Grain production
(c) Tea production (d)  Vegetables production
5. Which among the following is the largest region of ‘commercial dairy
farming’ ?
(a)  North Western Europe (b)  Canada region
(c) New Zealand region (d)  South Eastern Australia
6. Fodder crops are an important component of which among the following
types of agriculture ?
(a)  Mixed (b)  Mediterranean
(c) Co-operative (d)  Collective

7. Which one of the following countries has the highest rank in Human
Development Index ?

(a) Germany (b) Sweden
(c) Australia (d) Denmark
8. Study the following statements and choose the correct option :

Statement I : With the digitisation of information, telecommunication
slowly merged with computers.

Statement II : It resulted in integrated networks termed as Internet.
Options :

(a)  Only Statement I is correct.

(b)  Only Statement II is correct.

(c) Statements I and II both are correct, Statement II is the correct
result of Statement 1.

(d) Statements I and II both are correct, Statement II is not the
correct result of Statement I.
9. Which one of the following is related to push factor of migration ?
(a)  Natural disasters
(b)  Pleasant climate
(c) Security of life and property
(d)  Peace and stability

10. Which one of the following states has the highest population growth rate
during 2001 to 2011 decade ?

(a)  Manipur (b) Nagaland
(c) Mizoram (d) Sikkim
64/1/1 5 P.T.O.
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11.  3YHh ARAT WIETAT i e Tell hl T&AT o TR ATIhaH § =[IaH h
g T aTcl faehed Wl T
(a) WRAE-JUUN, giag, 3iffee ta =fi-foseadt
(b) YRR, 31ifeeeh, gfag v =fi-fosedt
(c) gfIe, IRdE-d, =t-fisedt ta e
d) 3o, oAffes, ITRAF-gURE w@ =iH-fdsed!

12. Tou Tu FemeEi i dfeu iR AMerties sEeAl @ geiga 8l foeed w1 e

HT

I O S

IL. oo iy i

1. g gt v

IV. =RTE g

ICETE B

(a) HaAlFIITE 2 | (b) had IS I TS 2 |

(¢ SaadIdIVEL 7 | d FaAITIVEL T |
13.  UIfctad, USIfelay 3cUTEl Ua 3aiiehl bl WYl hid o [T ST 7T U9 §

(a) AR (b)  ®feqd

(¢) ISl (d) %ﬂﬁﬁ?
14. &Fy 1 <1 T &@ry 11 9 hifve 3 98t faeres &1 =94 hifu .

7wy [ ey 11
(3T 7Se) (&)

i T E 1. fheheusre

11. s‘%—e@ga 2. ZATREIG/IATS

jii. A% A 3. BNIE

v,  GReY Hed 4. EAYL

ICETE IR

(a) i-1,ii—-2,iii—3,iv—4 (b) i-4,ii-3,iii-2,iv—1

() i-8,ii—4,iii-1,iv—-2 @ i-2,ii-3,iii-4,iv-1
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11. Choose the correct option in order of number of people speaking modern
Indian languages from maximum to minimum :

(a) Indo-European, Dravidian, Austric and Sino-Tibetan
(b)  Indo-European, Austric, Dravidian and Sino-Tibetan
(c) Dravidian, Indo-European, Sino-Tibetan and Austric
(d) Dravidian, Austric, Indo-European and Sino-Tibetan

12. Read the given resources and choose the correct option related to
‘community’s resources’ :

L. Village water bodies

II.  Village agriculture land
ITII. Village residential land
IV. Pasture land

Options :

(a) OnlyI andII are correct. (b)  Only II and III are correct.
(c) Only IIT and IV are correct. (d)  Only I and IV are correct.

13. The port designed to receive petroleum, petroleum products and
fertilizers is :

(a) New Mangaluru (b)  Haldia
(c) Kandla (d)  Tuticorin

14. Match Column I with Column II and choose the correct option :

Column I Column II
(Railway zone) (Headquarter)
1. North Central 1. Secunderabad
ii.  East Central 2. Allahabad/Prayagraj
iii.  West Central 3. Hajipur
iv.  South Central 4.  Jabalpur

Options :
(a) i-1,ii—-2,iii—3,iv—-4 (b) i1-—-4,ii—-3,iii—2,iv—-1
(¢) 1-38,ii—4,ii—-1,iv—-2 (d) 1-2,ii—-3,iii—4,iv—1
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[AHTfEad & 376997 &1 leq 37 97 &7 15 & 17 3 I [07RaT |

WY Y o IMYR W qa=r (Nfeem &1 HFen &) § fmin e w
ISl Q1 oWl | U dost & &Y W R R @I 7 | I8 AU JHhSR o dATY-ATY
- ° fafem SrEl, S o g, geg, MeR, e, SR enfe TR |
SITAT 8 | 98 Widay 394 9ge e | fUar o 9| T 20,000 W1 B | 3Hh I
Tol MU 98 qrq: ¢feh UMW, ey 6l @, sl i UerE, A W Ed
B 3 | 39 99 BN, FHF i @l qur = & i, enfe W oft @< gd §
TS & YNGR o E-T81 ol & 1deh &9 & JaU 8 |

15 99 Ugd, IATd U T8l 9 | INaR 98d & i aRfeufaal 8 Tor @
o | 3Gk i ATE 3R 3 IRER ofiF wehg it w felt 9 | ufew g g @
ol H g1 g1 AT | W AT 4GS T HeqT H & SisA! Ut | WG % AG
ql 98 1R ot oA aifearfal o R T |

T qHA, WY AU ek FO HhHA IcqaEAl H UWIed g1,
QIR § 1 @ 9 IR Mg B 7 qiERT i T8 IR U a&qe O
HH UAIE R 9 | 3 qG8 TRER T Helt 3 gREmr § Snd w1 s
9Teh I8 39 T o |1 IS ST 3T | 38 1988 H IR hl Th A
et T 20 Ufdfed sl woigll W 6 #1E deh M fohan | 191 39 37c9 A H
Jaftheh @Al 1 SAIH R I hI kA o HIA-ATY, I I3 TER(d IR
TIATGROT oh HY T ol TR B H HISAEAT 1 TTHAT AT TST | $8h oG
3G 30 GG o AN W GREHET § ¥ ([90d) H & HH & HoE
T | a@ # 38 dfcen & HE HH H A @1 R 36 a1¢ 98 391
JhER o T TAT-ASHT STl T ATl BT & | ETAlich W b Td H IGeh!
giEr 6t afdfer feufa ged 8, wg 38 ool & @ & 1 diel e vt 7 |
I8 I Ul I S H AU H1Y A8 o I Tehdl § ik SHeh! Ao
JTERf SR TAMTAN B |

o 0

15. f=fafgd § @ sH-|1 g€ 1 319 8 ?
(a)  JaTER gRT 9ST TR O
(b)  SETHAT GRI HHMET T €99
(¢) Sarfaa g foman o @
(@  Sarfa gra form e =%
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Read the case study given below and answer Q. No. 15 to 17.

Ramesh has been working in contract as a welder on a construction
site in Talcher (coal region of Odisha) for the last two years. He moved
with the contractor to various places like Surat, Mumbai, Gandhi Nagar,
Bharuch, Jamnagar and so on. He remits ¥ 20,000 per year to his father in
his native village. The remittances have been mainly used for daily
consumption, healthcare, schooling of children, etc. Part of the money is
also used in agriculture, purchasing of land and building of houses, etc.
The standard of living of Ramesh’s family improved significantly.

Fifteen years ago, the situation was not the same. The family was
passing through very tough times. Three of his brothers and their families
had to survive on three acres of land. The family was highly in debt.
Ramesh had to discontinue his studies after ninth standard. He was
further hard pressed when he got married.

Simultaneously, he was also impressed by some successful
out-migrants of his village who had been working in Ludhiana and
supporting their families in the village by sending money and some
consumer goods. Thus, due to abject poverty in the family and perceived
job promises at Ludhiana, he made a move to Punjab with his friend. He
worked there in a woolen factory for six months at the rate of only ¥ 20 per
day in 1988. Apart from the crisis of managing his personal expenditure
from this meagre income, he was also facing difficulty in assimilation to
the new culture and environment. Then he decided to change his place of
work from Ludhiana to Surat under the guidance of his friend. He learnt
the skills of welding in Surat and after that he has been moving to
different places with the same contractor. Though the economic condition
of Ramesh’s family at the village improved, he is bearing the pain of
separation of his near and dear ones. He cannot shift them with him, as
the job is temporary and transferable.

15. Which one of the following is the meaning of remittance ?
(a)  Money sent by migrants
(b)  Money earned by migrants
(c) Money spent by migrants
(d) Loan taken by migrants
64/1/1 9 P.T.O.
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16. WA H YOI Yo <1 IHE SR 2

(a) e
(b) TR
(c) TITEY
(d) e

17. TrafaRea o @ -1 I Yo =1 U SHifheh i g ?
(a)  Taed TS h SMURYA Gl T gad
(b) 3G T&A T AAGU 1 3THE
(c) Y T ol Tt | rEdeH
(d) 7T TAA T FERIA HT HH

Qs @

T GE&IT 18 U 19 Gld-3TeRT F97 & |

18. U U e17=s ®I =MYE® dfer 3R 35 = feu MU ywAt & I foafew : 3x1=3

STe 319 SR 98d & 9 fohsfl Sieet i ATd & TAAT 7Y IIHETEh St
o U I & | -t 3ok JTar-fUdn SUER % Y SfTueh! SRudta o S
8 | foume™ ¥ ofuenl sreades derd & | foRell off foarg 1 feufa # st ™
Fhia F &l At 7 | H THR P FIErR Bid & S BIE N PTAH gH W
I FATE YgH HLA @ | 37d: Gt JehR i TaTd fafime e gt § S A
% e Utd B & | Tareew, fyem, fofy, yvme et wAeH soafe @
TG HIAAT hl SMEITRAT & | 1 HA13l I 3 Jgifas FH 3R
foRaTereh IfSTequr <l STTEweehdl B 8 SR IR S8 U1 SATEETIeh -1l & |
Jaaeh fShaThaTy T Tt | FEUA § | S {1 HFeL 1 Th Hgw@qYl
SR § FAlh (YR qdIaeh ARl 1 Foue $Hea afies, Saas
gfte | yieriera foeivs 3TR qUmsieraTati g gidm g |

aifelen forepra Y STfireh stawemati § ST T U ST 1T WAfHH Heret
H R AT AT | T Torepla srefedereen § SgHeash Al Jaiaeh R |
TSR 9Td & TR STUeTTehd A T&1 # fediere deet # %ed 8id ¢ |

(18.1) gt wa qefiareh fshamehaiTal § W@ 37X i T hHINT | 1

(18.2) ik TohATehaTd fohd TehR IcdTed 7R faf-ma gl & wafed & 2 1

(18.3) Tormgl q1 qeitareh fshaThaTal 1 Soch@ hITT, | é+é=1
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16. The main cause of rural-urban migration in India is :
(a)  Education
(b)  Employment
(c) Health
(d)  Tourism

17. Which one of the following is the demographic consequence of
rural-urban migration ?
(a)  Pressure on infrastructure at the place of destination
(b)  Shortage of labour at the place of origin
(c) Imbalance in age and sex
(d) Intermixing of culture at the place of destination

SECTION B

Questions number 18 and 19 are Source-based Questions.
18. Read the given passage carefully and answer the questions that follow : 3x1=3

When you fall ill you go to your family doctor or you call a doctor.
Sometimes your parents take you to a hospital for treatment. While in
school, you are taught by your teachers. In the event of any dispute, legal
opinion is obtained from a lawyer. Likewise, there are many professionals
who provide their services against payment of their fee. Thus, all types of
services are special skills provided in exchange of payments. Health,
education, law, governance and recreation etc. require professional skills.
These services require other theoretical knowledge and practical training.
Tertiary activities are related to the service sector. Manpower is an
important component of the service sector as most of the tertiary
activities are performed by skilled labour, professionally trained experts
and consultants.

In the initial stages of economic development, larger proportion of
people worked in the primary sector. In a developed economy, the
majority of workers get employment in tertiary activity and a moderate
proportion is employed in the secondary sector.

(18.1) Explain the main difference between secondary and tertiary

activities. 1
(18.2) How have tertiary activities related both production and
exchange ? ;o 1
(18.3) Mention any two tertiary activities. 7 + 7 =1
64/1/1 11 P.T.O.
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19. < TE Il 1 LAY AR hivT R 3wk f= fqu Tyl & IW
fafau 3x1=3
YRT — FRIBT BT Jqrdl, 1901 — 2011

CL TR /AT | T e | A SHEEd | SR dig
Gl hl TE (B9 H) H % (%)
1901 1,827 25,8519 10-84 —
1911 1,815 25,9416 10-29 0-35
1921 1,949 28,086-2 11-18 8:27
1931 2,072 33,456-0 11-99 19-12
1941 2,250 44,1533 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,9366 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,569,463 23-34 46-14
1991 4,689 2,17,611 2571 36-47
2001 5,161 2,85,355 2778 31-13
2011 6,171 3,77,000 31-16 31-08
(19.1) WRA ¥ Tor8 a9 # T SHEEA1 6l EhR Jhg Faiiesh off ? 1
(19.2) a4 2001 ¥ Fet ferat T SEE off 2 1

(19.3) I9 1901 & 20113 Hed HRA H TR hl T&AT § HoA fohal I 73 ? 1
iz : [AElilEad 397 Fac gieantaa qharfdal & 7 397 &1 19 % €9 W/

&/

YA H T afeai i fopegi oiF foRIvareti sl ¥ase iV | 3x1=3

Qg

97 G&IT 20 T 23 TG-IF0T T & |
20. (%) “wma whfd % el Sl SEa €1 | ueH % a1g & Nenfieh &1 e

IR |7 HHE o Th1ohiol o HeH H 36 HYF I oIl il | 3
HAYAT
(@) “arrela fRATsTl i B9 §a & |7 Yehid o HIHATRUl % HaH H 39 He
T ATH BT | 3
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19. Study the given table carefully and answer the questions that follow : 3x1=3
India — Trends of Urbanisation 1901 — 2011

Year Number of Urban Population | % of Total Decennial
Towns/UAs (in Thousands) Population Growth (%)
1901 1,827 25,851-9 10-84 —
1911 1,815 25,9416 10-29 0-35
1921 1,949 28,086-2 11-18 8-27
1931 2,072 33,4560 11-99 19-12
1941 2,250 44,153-3 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,9366 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,59,463 23-34 46-14
1991 4,689 2,17,611 25-71 36-47
2001 5,161 2,85,355 2778 31-13
2011 6,171 3,77,000 31-16 31-08
(19.1) In which year was the decennial growth of urban population the
highest in India ? 1
(19.2) How much was the total urban population in the year 2001 ? 1

(19.3) How much was the total growth of number of towns between the
years 1901 to 2011 in India ? 1

Note: The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 19.

Explain any three characteristics of urban settlements in India. 3x1=3

SECTION C

Questions number 20 to 23 are Short Answer Type Questions.

20. (a) “Human beings were able to develop technology after they
developed better understanding of natural laws.” Evaluate the

statement in the context of naturalization of humans. 3
OR
(b) “The imprints of human activities are created everywhere.”
Evaluate the statement in context of humanization of nature. 3
64/1/1 13 P.T.O.
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21. WA H SHEEA gfg S TEwAT T (1951 — 1981) Tl SIHHEHT ¥R hl ATy

&% 9 T I ST ST @ 2 hls dF deh et T8¢ IS | 3

22. YRAE Y % fapm # Tad N & v Ui fimm’ (NMSA) & 3891 1
auig i | 3

23. (%) uNd HI Theru-ufvedt R yewr’ @i 98 St yg@ fomydrst w1 eo@
I | 3

YT

(@) 9ra H WAl g @w 98 Hl ygE fomwarst w1 @

i | 3
Qe g

T G&IT 24 G 28 FH-30T 59T & |
24. (%) fava @ 3= 1 afeyfd & ywifad & a1 919 9@ HRehI

fergaiwor Hifsw | 5
arerat

(@) = AT W AT IT o afienor 1 faversor gig 3fifert & Fda
$||\3Q| 5

25. “fova § WA w9 T Ul o UiEEd o U YISl i odYsh €9 GHIT
fora ST B 17 IURH ekl gIRT 39 e hi gfte HifT | 5

26. ‘A AR H IRITNG HIY | favag T STqisdy =GR’ & @ ThRi
Ui HIT | 142+42=5

27. “Sfeu MR T FAM &F B Tdd N9 {IhE T A& I B o T I
w9 o uifeufaeha gaaq aveiedr 9 <A1 g |7 S8 %Y 1 YodTehd

$||\3Q | 5
28. (%) “YRA H TSH A (¥ H1 GHU G TST SH A 8 |7 39 HAT I
gfte it | 5
arerat
(@) “andi I I fova & Haifies |« 3 el 3 8 T 2 |7 39 HIF 6
gfte HifT | 5
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21. Why is Phase III (1951 — 1981) of growth of population referred to as the
period of population explosion in India ? Explain by giving any three
arguments. 3

22. Describe the objectives of ‘National Mission for Sustainable Agriculture

(NMSA) in the development of Indian agriculture. 3
23. (a) Mention the main characteristics of the mineral belt of
‘South-Western Plateau Region’ of India. 3
OR
(b)  Mention the main characteristics of mineral belt of ‘North-Western
Region’ of India. 3
SECTION D

Questions number 24 to 28 are Long Answer Type Questions.
24. (a) Analyse five main factors affecting location of industries in the
world. 5
OR
(b) Analyse the classification of industries on the basis of raw

materials into five heads. 5

25. “Pipelines are used extensively to transport liquids and gases in the
world.” Support the statement with appropriate arguments. 5

26. Define the term ‘international trade’. Describe two types of ‘international
trade’ in the world. 1+2+2=5

27. “Attaining sustainable development in the Indira Gandhi Canal (Nahar)
Command Area requires major thrust upon the measures to achieve

ecological sustainability.” Evaluate the statement. 5
28. (a) “India has one of the second largest road networks in the world.”
Support the statement. 5
OR
(b) “Indian Railways network is one of the longest in the world.”
Support the statement. 5
64/1/1 15 P.T.O.
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Qs ¢

T97 &7 29 T 30 FIHIGT STERT 97 8 |

29. TER & fqu mu ueHifos Wramte (98 21 W) § Gra Wiifoes @e
% A,B,C,D,E, Fan G 9 fegrn mn 2 | fosl grer & ug=m Fefafaa
SHRI hl FgrEdl 8 hifse R 396 g8 9™ 3 g™ @i=l 18 W@ ®
fetfiae 5x1=5

ITHIhT T F8 §ST <0

foreqa aTforsr STt iy &1 &

@ Hg Te

At e &

AU Y I

AT THHBTGIU LCTHTT Sl T IIT=H T TFH

zferor sTAfenT 1 Te@ we TW

@ =2 820 aw »

Fie:  FHEIRad Ju7 FacT gIvETad qheiferEr & o7y 97 G837 29 F T W
g1
FReferiaa & @ f=81 giar 3571 & T 57T : 5x1=5
(29.1) 3THIHT T HaH ST < HIH-AT 8 ?

(29.2) TSI & forqa anfors TS Y & w1 forfiw |

(29.3) UM % Teh Q@ HHgl 0 &l 4 foifay |

(29.4) 3TEATCH HEENR hl YW § YA HETETR H S Tl T8¢ bl AW
fofgu |
(29.5) IS % Y@ I ITH I AH TARGT |

(29.6) WA UFR ¥ YHEIHNR Wl e+ drell 1 gias T8 o1 a4 faReaw |
(29.7) GI&AU SR o TE 9 Q¥ H1 AW fARET |
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SECTION E

Questions number 29 and 30 are Map based Questions.

29. On the given political outline map of the World (on page 21), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
The largest country in Africa

An area of extensive commercial grain farming

A major seaport

A shipping canal

An international airport

4= 0 a® »

The westernmost station of the Australian Trans-Continental
Railway

G. The largest country in South America

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Which is the largest country in Africa ?

(29.2) Name an area of extensive commercial grain farming in

Argentina.
(29.3) Name any one major seaport in Japan.

(29.4) Name the canal that connects the Atlantic Ocean to the Pacific
Ocean in the West.

(29.5) Name a major airport of New Zealand.
(29.6) Name the canal that connects Red Sea to Mediterranean Sea.

(29.7) Name the largest country in South America.

64/1/1 17 P.T.O.
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30. WRA % U T THITdeh W@I-AHRA (I8 23 W) # f=fdfed ama wWhmfees
A § 9 fhegl wier 1 3UTH Tomi gra 3Afoha ShifoTT 3T 37k I fafaw : 5x1=5
(30.1) Wi T THcd ITell TS
(30.2) 10 foferm & S1fYes g arel wRd 1 Fod i TR
(30.3) HUTH 1 HUUH IcqTGeh U
(30.4) I YW H T&@ qa WA S
(30.5) dUTATg | fEd Tl Sl @
(30.6) 3tifesn o fedra yg@ Tl IoH
(30.7) uSiE H feud STaisdiy g uee

Fig:  [AEliad Jv7 Fac glEETET gheidEt & g Je7 a8 30 & T |
g1
Aefoifad 7 @ a1 aiar 941 @& 3w 97 : 5x1=5
(30.1) WA & Haleh JTHEIT Icd Il T hl 9117 fAfgy |
(30.2) <hHUTH < 3TV IcTeeh TS hl A0 TARIT |

(30.3) TR UeW H fopH TAM W da SMew wren f&rd 2 2
(30.4) 10 WM € 2AfUsh SHEEN a1l WRA % §&9 Yol R H1 M

fafau |

(30.5) Wde! dla1 @ frg T | feoq @ 2

(30.6) eI HHGE I fohd TSI | feor@ 8 2
(30.7) USTE H ARSI I I fohd T W feda & 2
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30. On the given political outline map of India (on page 23), locate and label
any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) The state with highest density of population

(30.2) The easternmost city of India having more than 10 million

population
(30.3) The leading cotton producing state
(30.4) Oil Refineries located in Uttar Pradesh
(30.5) Coal mines located in Tamil Nadu
(30.6) Major seaport located in Odisha

(30.7) International Airport located in Punjab

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state of India with highest density of population.
(30.2) Name the leading cotton producing state.
(30.3) In which place of Uttar Pradesh are oil refineries located ?

(30.4) Name the easternmost city of India having more than 10 million
population.

(30.5) In what state are the Khetri copper mines located ?
(30.6) In which state is Tuticorin seaport located ?

(30.7) In which place is the international airport of Punjab located ?

64/1/1 19 P.T.O.
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For question no. 30
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
SUBJECT : GEOGRAPHY (SUBJECT CODE 029) (PAPER CODE 64/1/1)
General Instructions: -
1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions,
please try to understand given answer and even if reply is not from marking scheme
but correct competency is enumerated by the candidate, due marks should be
awarded.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6

Evaluators will mark( V ) wherever answer is correct. For wrong answer CROSS ‘X” be

64/1/1
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marked. Evaluators will not put right (v ) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7
If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8
If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9
If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

10
No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11
A full scale of marks 70 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves
it.

12
Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

13
Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-
e Leaving answer or part thereof unassessed in an answer book.
e  Giving more marks for an answer than assigned to it.
e \Wrong totaling of marks awarded on an answer.
e \Wrong transfer of marks from the inside pages of the answer book to the title page.
e \Wrong question wise totaling on the title page.
e \Wrong totaling of marks of the two columns on the title page.
e Wrong grand total.
e Marks in words and figures not tallying/not same.
e \Wrong transfer of marks from the answer book to online award list.

64/1/1 2
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e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14
While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15
Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16
The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17
Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18
The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME 2023

(ANNUAL EXAMINATION)
SUBJECT- GEOGRAPHY (029)
PAPER CODE 64/1/1
Set 1
MM:70
Q EXPECTED ANSWERS/VALUE POINTS Page | Distribu
No. No. in tion of
TB Marks
SECTION A TX1=17
Q.No. 1 to 17 are Multiple Choice Questions
1. (a) Urbanization Pg. 10
T.B-1 1
2 (c) Basic need Pg. 26
T.B-1 1
3 (b) Only I, II and III are correct Pg. 15
T.B-1 1
4 (d. Vegetable production Pg. 40
T.B-1 1
5 (a) North Western Europe Pg. 39
T.B-1 1
6 (a) Mixed farming Pg. 38
T.B-1 1
7 (¢  Australia Pg.28
T.B-1 1
8 (¢) Statements I and II both are correct, Statement II is | Pg. 79
the correct result of Statement I. T.B-I 1
9 (a)  Natural disasters Pg. 12
T.B-1 1
Pg. 144
10 (0 Mizoram T.B-I 1
11 |(a) Indo-European, Dravidian, Austric and Sino-Tibetan 'II)‘gBII(I) 1
12 | (d.) OnlyIand]IV are correct. Pg. 43
T.B-I1 1
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13 | (¢) Kandla Pg. 129
T.B-11 1
14 | (d i-2,ii-38,iii—4,iv-1 Pg. 117
T.B-I1 1
15 |(a) Money sent by migrants .
16 | (b) Employment .
17 | () Imbalance in age and sex .
SECTION B
Question No. 18 &19 are Source Based
18 | Difference between secondary and tertiary activities:
(18.1) The main difference between secondary
activities 1s that the expertise provided by
services relies more heavily on specialized
skills, experience,, and knowledge of the
workers rather than on the production
techniques,machinery and factory process. (1)
(18.2) Relation of tertiary activity with production
and exchange :
1. Professionals provide their services/skill
against the payment of fee e.g. lawyer,
doctor, education, consultants, and skilled
labour etc.
1. Professionals providing their services in
trading (goods and services),transportation
and communication.
Any one point of relation (1)
(18.3) (1) Trade, (i) Transport,( iii) Health, 3% 1=3
(iv) Education
Any other relevant examples.
Any two examples to be mentioned. (1/2+1/2=1)
19 | (19.1). In which year was the decennial growth of
urban population the highest in India ?
19.1. 1981, 46.14% (1)

64/1/1
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(19.2) How much was the total urban population I
the year 2001 ?

19.2. In 2001, the total urban population was
2,85,355. (1)

(19.3) Total growth of number of towns between
1901 to 2011 in India was.

3X 1=3
19.3. 4,344 or 238% (1)
For Visually Impaired Candidates Only :
The characteristics of urban settlements are:--

1. Urban settlements are generally compact
and large in size.

11. They are engaged in a variety of non
agricultural, economic and administrative
functions.

11. Cities are functionally linked to rural areas
and towns around them.

iv. Exchange of goods and services take place.

v. Any other relevant point. Pg.34
3X 1=3

Any three characteristic to be explained. TBII

SECTION C 3X 4=12

Q. No. 20 to 23 are Short Answer Type Questions

20 | (a) “Human beings were able to develop technology after
they developed better understanding of natural laws.”
Evaluate the statement in the context of naturalization
of humans.

1. Technology indicates the level of cultural
development of society.

1. The understanding of concepts of friction and
heat helped us discover fire.

64/1/1 6
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111. Understanding of the secrets of DNA and
genetics enables us to conquer in any diseases.
iv. We use the laws of aerodynamics to develop
faster planes.
v. Knowledge about nature is extremely important
to develop technology, and technology loosens the
shackles of environment on human beings. Pg. 2 3X 1=3
vi. In the early stages of their interaction with their TB-1
natural environment humans were greatly
influenced by it.
VIi. Any other relevant point.
Any three points to be analyzed.
OR
(b) “ The imprints of human activities are created
everywhere.” Evaluate the statement in the context
of humanization of nature.
1. The people begin to understand their
environment and the forces of nature with
the passage of time.
1. With social and cultural development
humans develop better and more efficient
technology.
1ni. They move from a state of necessity to a
state of freedom.
iv. They create possibilities with resources
obtained from the environment.
v. The human activities create cultural
landscape e.g. health resorts on highlands,
huge urban sprawls, fields, orchards and
pastures in plains and rolling hills, ports,
oceanic routes on oceanic surface and Pg3
satellites. TBI 3X 1=3
vi. Any other relevant point.

64/1/1
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Any three points to be evaluated.

21

Growth of population in Phase III (1951-1981) is

referred to as a period of population explosion in
India because of-

1. Rapid fall in mortality rate but a high
fertility rate of population in the country.

1. The average annual growth rate was as high
as 2 2%.

ni. It 1s in this period after the independence
that developmental activities were
introduced through a centralized planning
process and economy started showing up
ensuring the improvement of living
conditions of people at large.

1v. Any other relevant point.

Any three points of argument.

Pg-3 | 3X1=3

TB-1I

22

The objectives of National Mission for Sustainable

Agriculture are :
1. To make agriculture more productive.
1. Sustainable
111. Remunerative

iv. Climate resilient by promoting location-

specific integrated/composite farming systems.

v. To conserve natural resources through
appropriate soil and moisture conservation
measures.

vi. Any other relevant point.

Any three objectives to be described.

Pg55 | 3X1=3
TBII
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23 | (a) The characteristics of the mineral belt of SW Plateau
region of India are-
1. This belt extends over Karnataka, Goa, and
contiguous Tamil Nadu uplands and Kerala.
1. This belt is rich in ferrous metals and
bauxite.

1i. It also contains high grade iron ore,

manganese and limestone.
1v. This belt lacks in coal deposits except the

Neyveli lignite mines Pg 73 3X 1=3

’ TB II

v. Any other relevant point.

Any three points to be mentioned.

OR
(b) The characteristics of the mineral belt of NW
Region of India are-
1. This belt extends along Aravali in Rajasthan
and part of Gujarat.

1. Minerals are associated with Dharwar

system of rocks.
111. Copper, zinc have been major minerals.
iv. Rajasthan is rich in building stones, i.e.

sandstone, granite, marble etc. Pg 73

. TBII | 3X1=3
v. Any other relevant point.
Any three points to be mentioned.
SECTION D 5 X 5=25

Q. No. 24 to 28 are Long Answer Type Questions
24 | (a) Factors affecting the location of industries in the world
are-

1. Access to market.

1. Access to raw material.

11. Access to labour supply.

1v. Access to sources of energy.

64/1/1
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v. Access to transportation and communication

facilities.

vi. Government policy. I;gfsi

vii. Any other relevant point. B 5X1=5

Any five points to be analyzed.
OR

(b) The classification of industries on the basis of raw

materials are-
1. Agro-based industries.

1. Mineral-based industries.
111. Chemical-based industries.
iv. Forest-based industries.

v. Animal-based industries.

50,51

vi. Any other relevant point.
TB1 5X1=5

Any five points to be analyzed.

25 | “Pipelines are used extensively to transport liquids and
gases in the world.” Support the statements with
appropriate arguments.

1. Water, petroleum and natural gas for an
uninterrupted flow.

1. Water supplied through pipelines is familiar
to all.

111. Cooking gas or LPG is supplied through
pipelines in many parts of the world.

1v. Pipelines can also be used to transport
liquefied coal.

v. In New Zealand, milk is being supplied
through pipelines from farms to factories.
Pg78 | 5X1=5

vi. In U.S.A., there is a dense network of oil TBI

pipelines from the producing areas to the
consuming areas.

64/1/1 10
Get More Learning Materials Here : & m @&\ www.studentbro.in



vii. Any other relevant point.

Any five points to be explained.
26 | Define the term ‘international trade’. Describe two types
of ‘international trade’ in the world.

Exchange of goods and services among countries across
national boundaries is called International trade. (1)

Types of international trade in the world-

a. Bilateral trade : Bilateral trade is done by
two countries with each other. They enter into
agreement to trade specified commodities

amongst them. For example country A may
agree to trade some raw material with
agreement to purchase some specified item to
country or via versa. 2)

b. Multi-lateral trade : As the term suggests
multi-lateral trade is conducted with many
trading countries. The same country can

trade with a number of other countries. The Pg 1+2+2=
country may also grant the status of the Most 81,85 |5
Favoured Nation (MFN) on some of the TB I
trading partners. (2)

27 | “ Attaining sustainable development in the Indira Gandhi

Canal (Nahar) Command Area requires major thrust upon
the measures to achieve ecological sustainability.”
Evaluate the statement.
1. The first requirement is strict implementation of
water management policy.

1.  The canal project envisages protective irrigation
in Stage-I and extensive irrigation of crops and
pasture development in Stage-II.

11. In general, the cropping pattern shall not
include water intensive crops. People should be
encouraged to grow plantation crops such as citrus
fruits.
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iv. The CAD programmes such as lining of water
courses, land development and levelling and
warabandi system shall be effectively implemented
to reduce the conveyance loss of water.

v. The areas affected by water-logging and soil
salinity shall be reclaimed.

vi. The eco-development through afforestation

shelter belt plantation and pasture development is
necessary particularly in the fragile environment of
Stage-11. Pg 111
vil. Any other relevant point. TBII | 5X1=5

Any five points to be explained
28 | (a) “India has one of the second largest road networks in
the world”. Support the statement.

1.  About 85% of passengers are carried by
roads every year.

1. 70% of freight traffic are carried by roads
every year.

ni. For the purpose of construction and
maintenance roads are classified as
N.H., S.H., Major District Roads and
Rural Roads.

iv. NH connect the state capitals, major
cities, ports, railway junctions etc. e.g.
Golden Quadrilateral, North-South and
East-West corridors.

v. SH connects state capital with the district
head quarters.

vi. District roads connect district head
quarters with important nodes in the
district.

vil. Most of the roads in rural areas provide
vital links.
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.. Pg114
viil. Border roads are of strategic importance &

in frontier areas. TBII

ix. Any other relevant point. 5X1=5

Any five points to be explained.

OR

(b) “Indian Railways network is one of the longest in
the world”. Support the statement.

1. Indian Railways i1s the largest government
undertaking in the country.

1. It facilitates the movement of passengers
and goods and contributes to the growth of
economy..

11. It integrates the people of different castes,
religion, culture and economic conditions.

1iv. In India, the railway system has been
divided into 16 zones for better management of
railways.

v. Konkan Railway 1is an important
achievement of Indian Railways.

vi. Railway system 1s being upgraded e.g. the
operation of the Metro in cities.

vil. Any other relevant point. Pg. 118

. . . T.B-II | 5X1=5
Any five points to be explained.

SECTION E
Q. No. 29 & 30 are Map Based Questions
29 See attached Map.
For Visually Impaired Candidates Only.
(Answer any five)
29.1. Algeria
29.2. Pampas
29.3. Yokohama 5X1=5
29.4. Panama
29.5. Auckland/Wellington
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See attached Map.

For Visually Impaired Candidates Only.
(Answer any five)

30.1. Bihar

30.2. Gujarat 5X1=5
30.3. Mathura
30.4. Kolkata
30.5. Rajasthan
30.6 Tamil Nadu
30.7 Amritsar

30
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For question no. 30

e - WA &1 {a-artes (vaitas)
L, TR S Outline Map of India (Political)
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